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••  AAnnaallooggiieess  33  Level 4  
  

  

DDiirreeccttiioonnss:: Choose the pair of words that 
best express a relationship similar to that 
of the original pair. Then write the bridge 
sentence(s) to the right.  
 

A finger is part of a hand. 
A leaf is part of a tree. 
 

  Example: 
BBrriiddggee  TTyyppee::  PPaarrtt  ttoo  WWhhoollee  

##))        FINGER : HAND 

AA))  lettuce : sandwich 

BB))  dog : cat 

CC))  leaf : tree 

DD))  shoe : sock 
 

  

BBrriiddggee  TTyyppee::  DDeeggrreeee  
  

11))  GREAT : GOOD 

AA))  fun : cool 

BB))  strange : weird 

CC))  hot : warm  

DD))  dull : sharp 
  

 
 
Bridge Sentence: 

  
Something that is great is very good. 
 
Something that is __________ is very 
__________. 

  

BBrriiddggee  TTyyppee::  DDeeggrreeee  
  

22))  BEAUTIFUL : PRETTY 

AA))  terrible : bad  

BB))  brave : valiant 

CC))  new : old  

DD))  tall : skinny 
  

 
 

Bridge Sentence: 
  
Something that is beautiful is very pretty. 
 
Something that is __________ is very 
__________. 

  

BBrriiddggee  TTyyppee::  OOtthheerr  
  

33))  RING : FINGER 

AA))  necklace : neck 

BB))  bracelet : diamond 

CC))  sock : hand 

DD))  glove : foot 
  

 
 
Bridge Sentence: 

  
A ring is worn around a finger. 
 
A __________ is worn around a __________. 

  

 

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  
  

44))  CORRECT : RIGHT 

AA))  crazy : smart 

BB))  weak : fun  

CC))  strong : hard 

DD))  cheap : inexpensive 
  

 
Bridge Sentence: 
  
Something that is correct is also right. 
 
Something that is __________ is also 
__________. 
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BBrriiddggee  TTyyppee::  OOtthheerr  
  

55))  SHOE : FOOT 

AA))  boot : hand 

BB))  glove : wrist 

CC))  hat : head 

DD))  sock : leg 
  

 
Bridge Sentence: 

  
A shoe is worn on a foot. 
 
A __________ is worn on a __________. 

  

  

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  

66))  PUPPY : DOG 

AA))  kitten : cat 

BB))  bear : cub 

CC))  fish : minnow 

DD))  cow : calf 
  

 
 
Bridge Sentence: 

  
A puppy is a baby dog. 
 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  CChhaarraacctteerriissttiicc  

77))  ROCK : HARD 

AA))  water : wet 

BB))  table : wooden 

CC))  mom : nice 

DD))  sound : loud  
  

 
 
Bridge Sentence: 

  
A characteristic of a rock is to be hard. 
 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  LLaacckk  
 

88))  SICK : HEALTH 

AA))  sad : emotion 

BB))  tall : intelligence 

CC))  scared : courage 

DD))  smart : energy 
  

Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  

99))  HAMMER : HIT 

AA))  knife : cut 

BB))  table : eat 

CC))  pen : build 

DD))  wheel : race 
 

 
 

Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  

1100))  SHIELD : PROTECT 

AA))  computer : talk 

BB))  vehicle : transport 

CC))  pencil : make 

DD))  song : sing 
  

 
 
Bridge Sentence: 

 
_____________________________________. 

 
_____________________________________. 
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Answers and Explanations 
 
1) C 
Something that is great is very good. Something that is hot is very warm. Therefore (C) is correct. 

 
2) A 
Something that is beautiful is very pretty. Something that is terrible is very bad. Therefore (A) is correct. 

 
3) A 
A ring is worn around a finger. A necklace is worn around a neck. Therefore (A) is correct. 

 
4) D 
Something that is correct is also right. These words are synonymous. Something that is cheap is also inexpensive. These 
words are also synonymous. Therefore (D) is correct. 

 
5) C 
A shoe is worn on a foot. A hat is worn on a head. Therefore (C) is correct. 

 
6) A 
A puppy is a baby dog. A kitten is a baby cat. Therefore (A) is correct. 

 
7) A 
A characteristic of a rock is to be hard. A characteristic of water is to be wet. Therefore (A) is correct. 

 

8) C 

Someone who is sick lacks health. Courage is the quality of not being afraid of danger. Thus, someone who is scared lacks 
courage. Therefore (C) is correct. 

 

9) A 
A hammer is used to hit. A knife is used to cut. Therefore (A) is correct. 

 
10) B 
A shield is used to protect. A vehicle is a motorized machine such as a car or truck. To transport is to move people or things 
from one place to another. Thus, a vehicle is used to transport. Therefore (B) is correct. 


